LO: Divide 2 Digit by 1 Digit
Practice

* Teddy is dividing 85 by 4 using place value counters. @
&

0000000000000

First, he divides the tens. Then, he divides the cnes.

Tens Ones

Use Teddy’s method to calculate:
86+4 87+4 88+4 97+3 98+3 99+3

" Whitney uses the same method, but some of her calculations

involve an exchange.

Use Whitney's
method to solve
57 +4
58+ 4

SHEE

Problem Solving

_ i _ Rosie writes,
Whitney is thinking of a 2-digit number 85 -3 =28¢1

that is less than 50

She says 85 must be 1 away from a
multiple of 3
Do you agree?

When it is divided by 2, there is no
remainder.

When it is divided by 3, there is a

remainder of 1 37 sweets are shared between 4 friends.

How many sweets are left over?

When it is divided by 5, there is a

rernainder of 3 Four children attempt to solve this

prablem.
What number is Whitney thinking of?
. Alex says it's 1
. Mo says it's 9
. Evasaysit's 9r1

. Jack saysits8r5

Can you explain who is correct and the
mistakes other people have made?



